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EX IS 4A

Problem 15.41 The 2-kg collar starts from rest at posi- y

tion 1 and slides down the smooth rigid wire. The y-axis i 18(552m
points upward. What is the magnitude of the velocity of
the collar when it reaches position 2?
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Problem 15.55 The system is released from rest
with the spring unstretched. The spring constant
k = 200 N/m. What maximum downward velocity does
the right mass attain as it falls?
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Problem 15.80 The Lunar Module (LM) used in the
Apollo moon landings could make a safe landing if
the magnitude of its vertical velocity at impact was no
greater than 5 m/s. Use conservation of energy to deter-
mine the maximum height 4 at which the pilot could
shut off the engine if the vertical velocity of the lander
is (a) 2 m/s downward and (b) 2 m/s upward. The accel-
eration due to gravity at the moon’s surface is 1.62 m/s2,
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